Cll# Pemenns co ckoOkamu Uwmsi:

Pemnre Kaxayro 3aaaudy. OTBeTHI
D (9x4):7=
1.
2) 7x(14-7) = 2.
3.
3 (14:7)+2 =
4.
9 8+1)+8=
5.
5 (39+1):10= 6.
7.
6) 2x3)-6=
8.
D (4+4)-7=
9.
8) (27:9)x9 = 10.
11.
9 (70:10)-4 =
12.
10) (7+8)x5=
13.
1) (13-9)+7 = 14.
15.
12) (39-15):3 =
13) (14-3)-4 =
14) (10x8)+15=
15) (3 X 9) X 3 =
1-10 [93[87[80 (73] 67] 60|53 [47[40]33]
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Pemenus co ckoOkamu Nwms: Ka04 K NIpaBUIbHBIM O0TBETAM
Pemnre Kaxayro 3aaaudy. OTBeTHI
1) 7 .
9 x4):7 Srl (36):7 . 5 11
) 7x(14-7)= 49 Tx(7) 2. 49
3. 4
) 14:7)+2= 4 2)+2
4 17
9 8B+1)+8= 17 (9)+38 4
E— 5.
5 B39+1):10= 4 (40):10 6. 0
7. 1
6) 2x3)-6= 0 (6)-6
8. 27
7 4+4)-7= 1 (8)-7 3
— 9,
8 (27:9)x9= 27 (3)x9 10. 75
1. 11
9 (70:10)-4 = 3 (7)-4
12. 8
10) (7+8)x5= 75 (15)%x5 ”
E— 13.
) (13-9+7= 11 (4)+7 14. 95
1s. 81
12) (39.- 15):3 = 8 (24):3
13) (14-3)-4= 7 (11)-4
1) 10x8)+15= 95 (80)+15
IS) 3x9)x3= 81 (27)x3
1-10 |93 [87[80[73 [ 67|60 |53 |47 [40]33]
MaTemaTuka www.CommonCoreSheets.ru 11-15127]20)13 |7 [ O




Cll# Pemenns co ckoOkamu Uwmsi:

Pemnre Kaxayro 3aaaudy. OTBeTHI
3 95 1 27 0
8 7 49 11 4 1.
17 4 S5rl 75 81
2.
D 9x4):7=
3.
2) 7x(14-7) =
4,
) (14:7)+2= 5.
9 8+1)+8= 6.
7.
) 39+1):10=
8.
6) 2x3)-6=
9.
7) +4)-7 =
4+4)-7 o,
8) (27:9)x9= 1.
9 (70:10)-4 = 12
13.
10) (7+8)x5=
14.
) (13-9)+7=
15.
12) (39-15):3 =
13) 14-3)-4=
14) 10 x8)+ 15 =
15) (3 X 9) X3 =

OO0s1eryeHHblIii BApUAHT 1-10 [93 878073 [67]60[53]47[40]33 ]
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